Q.10 Draw the Diagrams :-

0] Draw one input and one output device.

(i) Draw the Desktop and label it.

Practical -
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Q.1  Fillinthe blanks : 5xY=2Y5
[ Binary, Laser, Rainbow, Desktop, Pen drive ]
0] The printers give very high quality output. .
(i)  The information in a computer is stored in the form of
digits.
(iti)  When we switch on a PC, the opening screen of Windows is
called
(iv) The effect draws a train of rainbow
colours as you drag the mouse on the drawing area.
(v) A Flash drive is popularly known as
Q.2 Write True OR False :- 5xYH=2Y5
0] The shortcut key to close a document is Ctrl+C. | |
(i)  There are 18 different shapes available in the sub-toolbox of
the Shapes tool. [ |
(iti)  In Windows, we can run only one program at a time. | |
(iv) 1 Megabyte is equal to 1024 Gigabytes. [ |

(v)

A touch pad is mostly used on the laptop computer. | |



Q.3

Q4

Q5

Match the following :- S5x1o=2%
0] MU -()4.1GB [ ]
(i) DVD - (b) Personalize [ ]
(i)  Magictool - (c) Stores information [ ]
(iv)  Screen Saver - (d) Selects the entire text [ ]
(V) Ctrl+A - (e) a [ ]
Tick the (V) correct Answer :- S5x1o=2%

0] Which is the shortcut key for undo command?
(a) Ctrl+U [ ] (b) Ctrl+z [ ]
(1) B effect adds vertical wavy effects in our picture.
(a) Wavelets [ ] (b) Tornado [ ]
(ili) ~ Windows is a ----------- user interface.
(a) Graphical [ ] (b) Character [ ]
(iv)  The maximum capacity of multimedia cards is up to --------- .
(@) 31GB [ ] (b)128GB [ ]

(V) Which device is used to select the objects directly by touching
with fingers?
(a) Light Pen [ ] (b) Touch screen[ ]

Give Answer in One Word :- 5x1=5

0] Name any one input device

(i)  Which tool do we use to start a new drawing?

(iif) ~ Name any one type of Monitor.

Q.6

Q.7

Note :
Q.8

Q.9

(iv)  Which tool is used to mix two different objects smoothly?

(v) Which Short cut method is used to exit the MS Word

document?
Write the Short Cut keys :- 4x1=4
0] To delete a file (i) To print a page
(ili)  To Cut (iv) To Paste
Missing letters :- 4x1=4
0] E__ 1 (lFO__D R
@) SH__P S (ivyCO_MA__ D
Q. No. 8 to 10 do in Answer Sheet.
Give Answer in Short :- 1x4=4
0] What do you understand by inserting?
(i)  What is the use of Drip Magic effect?
(iti)  What is Desktop?
(iv)  Who is the founder of Microsoft?
Give Answer in Detail (Any Four) :- 4x2%=10

0] Write the steps to start MS Word 20077

(i)  What is the use of Eraser tool?

(ili)  What is a shortcut?

(iv)  What are Binary digits?

(v) What do you understand by a computer’s memory? Name its

parts.
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Q.12 Rewrite these sentences using capital letters and End marks : 4x%5=2

Q.13

Q.14

Q.15

(M english is my favourite subject

Ans.:

(i) he sat near the window reading the times

Ans.:

(ilf)  when can we go out to play

Ans.:

(iv)  how wonderful you look today

Ans.:

Tick (V) the right Answer :- 4xY,=1

0] Jing’s Ministers were two. ( Jackals / Bulls).

(i) Kitty charmed all the girls by ( being friendly / dancing
Prettily).

(iif) ~ One day Kitty was given a shiny —
(a) Pair of shoes [ ] (b) pair of gloves [ ]

(iv)  Isn’t it your turn to walk the dog?

Match the following :

(a) Question [ ] (b) statement [ ]

4xYi=1

0] whined - practiced sparring in Zishan’s dream
(i) journalist -that Mary Kom had visited his house
(i)~ One night Zishan
dreamt - writes for newpaper
(iv)  Maryand Zishan also - spoke in a complaining voice
Fill in the blanks :- 4xY,=1
0] The jackals wanted to keep the scared
of the bull.
(i) Children should save the crumbs to feed the
(itf)  The lark soars in the sky.
(iv)  Arich farmer had sons.

NLCS/2017/120 ROLL NO. SECTION
Half Yearly Examination 2016-2017
Class - IV
Subject — English
Time : 1 Hour M.M. 25
Part - A

Q.1  Write Antonyms :- 4xYs=1

(M Artificial x (i) Sunset x

(iii)  Bitter x (iv) Laugh x
Q.2 Write the Definition of Pronoun OR Adjective with two examples.

1+2=3

Ans.:

Q.3(a) Circle the correct Abstract Noun : 4xYs=1

Q.4

0] We must reduce the ( waste / wastage ) of paper.

(i)  The mountain have such natural ( beauty / beautiful ).
(iti) My ( friendship / friend) with Reena goes back many years.
(iv) Itwasa( pleasure /please ) to meetall my friends.

(b) Fill in the blanks with correct Collective Noun : 4xYs=1

0] These of birds are heading south for winter.
(i)  Thereisa of ships in the sea.

(iti)  Our won the match.

(iv)  lsawa of deer in the field.

Change gender for these Nouns : 4xYs=1
0] Grandmother - (i) bride -
(ili))  Peahen - (iv) nephew -




Q5

Q.6

Q.7

Q.8

Write Plurals : 8xYu=2
0] Foot - (i) life -

(i) loss - (iv)  Fish -

(v) Calf - (vi) Ox-

(vi)  family- (viii)  Thief -

Tick ( ') the correct words to complete these sentences :- 4xY4=1
0] Are there (any / much) oranges left?

(i)  Were there (a little / a lot of ) people at the event?

(iif) 1 bought ( some / much ) interesting books.

(iv)  Thereisn’t (few / much ) sugar left in this jar.

Underline the Pronouns in these sentences. Then write P for personal
pronouns , PO for possessive pronouns and D for demonstrative

pronoun. 4xYo=2
(M Akila said it was yours.

(i) That must be John.

(ilf)  They bought a new car.

(iv)  Sunaina gave it away.

Complete these sentences with the correct articles : 4xYy=1
0] cake was very tasty!

(i) I went for walk.

(i)  Welive on second floor.

(iv)  Sheetal has

idea for the project.

Q.9 (a) Fill in the blanks with Possessive, Adjectives: 4xY,=1
0] tennis coach wants us to practice everyday.
(i) The lock is useless without key.

(ilf)  They have left

(iv)  Swati wants to finish

dinner.

dog with the neighbours.

(b) Complete the following sentences with the correct Adjectives:4x%,=1

Q.10

Q.11

0] The
(i) Lokesh has a very

guitar stills sounds good.

way of looking things.

(ili)  We should have taken turn.

(iv)  There are ways to solve a Maths problem.

Complete the following table with correct degrees of comparison :

4xY4=1
Positive Comparative | Superlative
1. | Bold Boldest
2. | Healthy Healthier
3. More helpful | Most helpful
4. | Interesting Most interesting

(a) Complete the following sentences using the Simple Present OR
the Present Continuous forms of the Verbs in brackets : 4xY5=2
0] The stars (shine) quite brightly today.

i) |

(iti)  Australia usually

(eat) lots of fruits everyday.

(win) the cup every year.

(iv)  The band (play) my favourite song!

(b) Complete the following with Simple Past Tense : 4xY5=2

0] Rohan on a banana peel. (slip)
(i) Sourabh on the way. (stop)
@) 1 friends easily. (make)

(iv)  Tarika’s dog . (die)




NLCS/2017/120 ROLL NO. SECTION

Half Yearly Examination 2017-2018

Class - IV
Subject — Mathematics
Time : 1 Hour M.M. 25
Part - A
Q.1  Fillinthe blanks :- Yox4=2
0] is the factor of every number.

(i) Answer in division is called

(iti)  Number that are multiplied are called

(iv) 649 rounded to the nearest 100 is

Q.2 Write True OR False :- Yox4=2
0] 48 is a multiple of 3. [ ]
(i) Every number is the greatest factor of itself. [ ]
(ili) ~ The answer in subtraction is called difference.[ ]
(iv)  CCL is stand as 350. [ ]

Q.3 Choose the correct Answer : Yax4=2

0] 80 + 20, Quotient is —
(a) 4 [ ] (b)5 I ]
(i) In(38691 place value of 3 is —

(2) 30,000 [ ] (b)3000[ ]



Q.4

Q5

Q.6

Q.7

(iif)  Before No. of 40,120 is -

(a) 40,119 [ ]

(b) 40,121 [

]

(iv)  The number which is left over after finding the Quotient is

called -
(a) Dividend [ ]

Match the following :-

() 269 -

(i) 35 is multiple of
(i) 49x0 -
(iv) 75+5 -
Round to the Nearest No. :-

(M (Nearest 10) (a) 65
(i) (Nearest 100) (a) 651
Find Quotient :

()  800+10=

Find multiples (First Four) :

() 15= ,

(b) Reminder [

@57
(b) 00
(c) CCLXIX

(d) 15

(b) 672

(b) 536

(ii) 720 + 80 =

]

1Hx4=2

1Hx4=2

1x2=2

1x2=2

@i 20= :

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Write Expanded form : 1x2=2
(M 20,880 = + + + + 0
(i) 61,986= + +_900 + +
Write place value of circled digit : Yox4=2
0] 19581 (ii)38,691
(iii) 300 (iv)@384
Put the correct sign >, = OR < :- 1Hox4=2
0] 29,834 36,001 (i) 29,834 36,001
@) 17,711 17,171 (iv)83295 9,285
Write After and Before No. : Yox4=2
0] 38,143 (i1)2,35,800
(iii) 40,389 (iv) 26,362
Find the product :- 2x15=1
0] 3x2x4= (i) 28 x 50 =
Build Number : Yox4=2
Digits Greatest Smallest
(i) 291
(ii) 1308
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Q.7

Q.8

Rearrange the jumbled word
(i) ECASL

(i) CIREALG

(i) SREROUCE
(ivy KNGIDOM

(v LATSOAC
(vii NERALMI
Circle the Odd One :-

(M Chandragupta,

(i)  Ancient Period,

(i) Coal,
(iv)  Ganga,
(V) Wheat,

(vi)  Leather,

: 6x12=3

6x12=3
Ashoka, Akbar
Medieval Period,

Mughal, Modern Period

Bindusar,

Iron, Mica, Gold

Yamuna, Brahmaputra, Godaveri

Rice, Sugar, Jute

Jute, Steel, Silk
**kkk*k
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Time : 1 Hour

Q.1

Q.2

NAME ROLL NO. SECTION

Half Yearly Examination 2017-2018
Class - IV
Subject — Social Study
M.M. 25
Part - A

Fill in the blanks :- 8xLlh=4

0] The was very important among the
Vedic people.
(i)  The was build by the Shah Jahan.

(ili) ~ The Mauryan Empire and the Mughal Empire are the two

greatest empires in

(iv) was the first Indian woman to climb

Everest.

(v)  The Work of making maps is called

(vi)  Most maps have a key or a

(vii) The desert is located in the western part
of India.

(viii) Water is used for in agriculture.

Write True OR False :- 6%%=3

0] The Indo-Aryans came from central Asia. | ]

(i) Babur defeated Ibrahim Lodi. [ ]

(ili)  There are four cordinal directions. [ ]



Q.3

Q4

(iv)
v)
(vi)

Match the following :-

(i)
(i)
(iii)
(iv)
v)
(vi)

Tick the (V) correct Answer :-

(i)

(i)

(iii)

(iv)

v)

(vi)

Shivalik is another name for the Great Himalayas. | ]
Gangaur is an important festival of Rajasthan. | |
All natural resources are renewable

6%x%2=3

Bhakra-Nangal [ ]-(a) Ruler of Magadha

Luni River [ ]-(b) The Chief of the Janas
Akbar [ ]-(c) Follower of the Buddha
Ashoka [ ]-(d) Navaratnas at his court
Rajan [ ]-(e) Thar Desert
Ajatashatru [ ]-(f) Multipurpose project

6x%2=3
The Indo Aryans did not use —

(a) Cows [ ] (b) Money [ ]

The fourth ruler of the Mughal dynasty —

(b) Jahangir [ ]

The person who makes maps is called a —

(a) Botanist [ ] (b) Cartographer[ ]

The following state lies in the Himalayan region —

](b) Madhya Pradesh [ ]
The capital of Andaman and Nicobar Islands is —

(a) PortBlair [ ] (b) Srinagar [ ]

Our main source of fresh water on the Earth is —

(b) Surface water[ ]

(a) Hamayun [ ]

(a) Jammu and Kashmir [

(a) Rain water[ ]

Q5

(vi)

Q.6

Solve the following Puzzle :

6x12=3

0] An official order given by a person in authority.
(i)  The city that functions as the seat of Government of a region
or country.
(iti) ~ Not changing frequently and not likely to suddenly become
worse.
(iv)  Drawing of the Earth’s surface on a flat surface.
(v) A design or object that is a symbol of something such as a
country or organization.
A soilder especially in the past. 2 5 E
C
oW
3|S
4
Answer in One word :- 6x%%=3

()
(i)
(iii)

(iv)
(V)

(vi)

The son of Chandragupta Maurya

The founder of the Mauryan Empire

The map that shows types of soil found in a place

Thick sheets of Ice and snow is called

The highest waterfall in India is located in Karantaka

The drawing of the Earth’s surface on a flat surface




NLCS/2017/120 ROLL NO. SECTION
Half Yearly Examination 2017-18

Class — IV
Subject — Science
Time : 1:00 Hrs M.M. 25
Part - A
Q.1 Fillups:- ¥ox6=3

(M Animal breathe out

(i) The front four teeth on each jaw are called

(ili)  Roots absorb water from

(iv)  The coconut is a

(v) have large padded feet.
(vi) lays the largest egg.

Q.2 Write True OR False :- ¥%x10=5
0] A baby birds develop outside the egg. [ ]
(i) Camel can live without food for several days.[ ]
(iti) ~ Mangroves are terrestrial plants. [ ]

(iv)  The Amazon rain forest is called the pharmacy of the world.

[ 1]
(v) Plants need only sunlight to make their food.[ ]
(vi)  We have five types of teeth. [ ]
(vii)  The part of tooth which is seen is called gum.[ ]
(viii) Vitamin C is easily destroyed by heating. [ ]

(ix)  Leaves have a yellow coloured pigment called chlorophyll.

[ ]

(x) Bat is a flying mammal. [ ]



Q.3

Q4

Tick the right ( V) Answer :- Yox8=4
0] Frog lay eggs -

(@) Inwater [ ] (b) Onsand [ ]
(i) Caterpillar develop into —

(a) Pupae [ ] (b) Tadpole [ ]
(iii)  Deer and Lion live in—

(a) Grassland [ ] (b) Polar region[ ]
(iv) Cactus plants make food in their —

(a) Stem [ ] (b) Roots [ ]
(v) Plants that grow on land are called -

(a) Terrestrial plant[ ] (b) Aquatic plant] ]
(vi)  Potatoes are rich in—

(a) Fats [ ] (b) Carbohydrates[ ]
(vii)  Saliva begins the digestion of —

(a) Proteins [ ] (b) Carbohydrates[ ]
(viii) Teethhelpin —

(a) Tasting food[ ] (b) Chewing food[ ]
Match the following :- Yox8=4
0] Stored food -(@)  Caterpillars
(i) Mangrove -(b)  Broad and flat
(iif)  Starfish / Crabs -(c)  North Polar
(iv)  Butterflies -(d)  Layeggs in nest
(V) Sparrow -(e)  Aquatic animal
(vi)  Pre-molars -(f)  Aerial
(vii)  Polar bear -(g)  Stilt Root
(viii) Dragon flies -(h)  Starch

Q5

Q.6

Q.7

Write Answer in One word :- 3x1=3

0] Breathing organ of fish is called

(i) Name the test which helps in detecting the presence of starch

in food

(iti)  Nutrient helps the body to grow is called

Correct the wrong statements : 2x1=2

0] The hump of the camel have water.

(i) Humming bird lays the largest egg.

Label the diagram : 4x1=4

*hkk*k



NLCS/2017/ 120 ROLL NO. SECTION
Half Yearly Examination 2017-2018
Class - IV
Subject — Social Study
Time : 2:00 Hrs M.M. 35
Part - B
Q.1  Name the following :- 10x%=5

0] Two sources of water.

(i)  Two important cities of Punjab and Haryana.

(i) Two festivals celebrated in Andhra Pradesh.

(iv)  Two Himalayan rivers that flow into the Bay of Bengal.
(v) Two periods of Indian History.

8x1=8

Q) Which animal did the Vedic people ride upon?

Q.2  Answer in One lines-

(i) Which dynasty was the first to gain control over a large
part of India?

(ii)  Who founded the Mughal Empire in India?

(iv)  What is a globe?

(v) Name the highest mountain peak of the World.

(vi)  Name the state where Ganesh Chaturthi is an important
festival.

(vil)  Name the main festivals celebrated in the desert region of
India.

(vii)  What are Natural resources?

Q.3  Define (Any Four):-
Q) Batter system

4x1=4
(i) Legend
(v) Fossils fuels

(iii) Peninsula

(iv)  Nomads

Q.4

Q.5

Q.6

Q7

Difference between :- (Any One) 2x1=2
Q) Northern Plains and Thar Desert

(i) Eastern Coastal Plains and Western Coastal Plains
4x2=8

Q) What were the main occupations of the people in the

Answer the following questions (Any Four) :-

Vedic age?
(i) Write in brief about the achievements of Chandragupta

Maurya.
(i)  Write any two advantages of maps over the global.
(iv)  Why are Northern plains called the granary of India?
(v) Why do we need to conserve water?
Draw the symbol : 4x1=4
Airport, Hindu temple, Church and factory

OR

Draw a diagram of sources of water :
River, open well, tube well and hand pumps
In the outline political map of India to show following states
with their capitals : 4x1=4
Q) Jammu & Kashmir

(i)  Madhya Pradesh

(i) Rajasthan

(iv) Maharashtra
OR
On the outline map of India to show the four physical features of
India and Colour it.

*khkkkk



NLCS/2017/120 ROLL NO. SECTION

Half Yearly Examination 2017-18
Class - IV
Subject — English

Time : 2:00 Hrs M.M. 35

Q.1

Part - B
Read the passage carefully and Answer the following:-

We use computers everywhere — at school, at
home, at the doctor’'s the dentist's and the departmental
stores. It is important to know the main parts of the
computer. The monitor is the screen that displays words
and pictures. When you type on a keyboard, your words
appear on the monitor. If you want a paper copy, you use
a printer to print the words or pictures. Some computers
use diskettes to save work and others use CDs, which look
the same as the ones you use to play music. If you add
modem to your computer, you can communicate with other
people.

Answer the following Questions :-
M Where do we use computers? 1
(i) What is the monitor? 1

(i) Which word in the passage means shows? 1

(iv)  What do you add, when you communicate with

other people? 1
(v)  Write two Pronouns from the passage. 1
(vi)  Write Antonyms : 2x Y5 =1

(a) Nowhere x (b) disappear x



Q.2

Q.3

Q.4

Q.5

Write word meaning :- 8xlh=4

0] duet (i) Grumbled (i) Waltzed

(iv)  arrogant (v) encounter (vi) Neglected

(vii) prodigal (viii) Wage

Answer the following in Short :- 4x1=4

0] Who inspired Mary Kom?

(i) What did the younger son ask his father to give
him?

(i)  What did Kitty’s father ask her to do?

(iv)  Was the emperor impressed with the nightingale?

Answer the following in Brief (Any Four) :- 4x2=8

0] What happened to the artificial nightingale after a
few days?

(i) What did the cricket tell kitty about her shoes?

(i)  What did Jackals tell the lion about the bull?

(iv)  Why did Zishan think he could never be a boxer?

(v) What did the father do when his son returned?

3x1=3

Make sentences :-

0] Drought (ii) Inspired  (iii) gentle

Q.6

Q.7

Q.8

Write a paragraph on : 3
A visit to a magic show

OR

Internet

Write a letter to the Municipal Officer for maintenance of
park in your society. 1+2+1=4
OR
Letter to thank your uncle for the track suit he sent you as

a birthday gift.

Look at the picture and write 8 - 10 on it. 3
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NLCS/2017/120 ROLL NO. SECTION
Half Yearly Examination 2017-18
Class - IV
Subject — Science
Time : 2:00 Hrs M.M. 35
Part - B
Q.1  Name the following :- Yx10=5
Q) Two types of nutrients.
(i) Two types of teeth.
(i) Two fishes that are mammal.
(iv)  Two animals that live in grassland.
(v) Two roots that we eat.
Q.2  Define (Any Two) : 1%x2=3
Q) Reproduction (ii) Habitat  (iii) Balanced diet
Q.3  Write difference between (Any One) : 3x1=3
Q) Tadpole and Adult frog
(i) Aerial animal and Arboreal animal
Q.4  Give Answer in One sentence : 1x6=6
Q) What takes useful substances from the digested food to

every part of the body?
(i) What is the outermost white part of the tooth called?
(i) What are aquatic plants? Give an example.
(iv)  Name a total and partial parasitic plant.
(v) Name any three types of animals that lay eggs.
(vi)  How does air enter the leaves?

Q.5

Q.6

Give Answer in Two OR Three sentences (Any Four) :
2%x4=8
0] Where do sea turtle lay their eggs? How are the eggs

hatched?
(i) List any two body features that help a fish live in water.
(i) List ways by which you can keep your teeth healthy and
strong.
(iv)  What are mammals? How do they reproduce?
(v) Why is the stem of a cactus plant green?
Draw and label the diagram (Any Two) : 5x2=10
Q) Digestive system
(i) Structure of tooth
(iii)  Life cycle of butterfly
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NLCS/2017/120 ROLL NO. SECTION Q.7  Multiply the following :- 114x2=3
Half Yearly Eé(%rsrsu_n?\t/lon 2017-2018 () 319x30 (i) 156 x 23
_ Subject — Mathematics Q.8  Division :- 1%%x2=3
Time : 2:00 Hrs Part-B M.M. 35 () 9348 = 6 (i) 683 = 51
Q.1  (a) Write in Ascending order :- Yax4=3 Q.9  Find factors : 2x2=4
(i) 4369, 4,639, 4,693 (i)  Find factors of 24 (Use any method)
(i) 40,19, 14,691, 14,961 (i) Find common factors. 6, 9
(b) Write in Descending order :- Q.10 Find the first two common multiples of 10, 5. 1x3=3
(i) 64,931, 98,634, 1,10,184 Q.11 Word Problems (Any Four) : 1%%4=6
(i) 39,140, 39,360, 38,789 (i)  Mr. Khan has i 9,231 in the bank. He wants to leave only
Q.2 (a) Write Roman Number :- Yax8=2 i 2,500 there and take out the rest. How much money can
0] 120 (i) 150 (i) 230 (iv) 300 he take out.
(b) Write Hindu — Arabic Number :- (i) 1f 3 story books cost i 188.25. How much does 1 story
0] CX (i) CXL (i) CCIl (iv) CCLXX book cost?
Q.3 Write Number Name :- Vox4=2 (iii) A book shop helper has to keep 36 books in equal piles.
(i) 1821 (i) 2222 (i) 3009 (iv) 4451 What are the different piles of equal number of books
Q.4  Write the numerals :- Yox4=2 that he can make?
() Four Thousand Four Hundred. (iv)  The Mehtas went on a holiday to Coimbatore. On the
(i)~ Three Thousand Three Hundred Five. first day they spend i 1,245 over the next two days they
(i)~ Two Thousand Twenty. spent i 2,457 and on the last day they spent i 980. How
(iv)  One Thousand One Hundred One. much money did they spend in all.
Q.5  Add. the following : 2x2=4 (v)  Each of Ramlal’s mango trees gives about 125 mangoes.
Q) 8176 + 7995 How many mangoes will an orchard with 58 such trees
(i) 24 + 22 (Use Breakup OR counting in tens) give?
Q.6 Subtract the following : 1%x2=3 N——
Q) 5632 — 2486 (ii) 55 — 32 (Use place value to solve)
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Hikx & €

furufyflkr xJk'k dk i<dj iN x; i"uk d mlkj
fy [&
ty vij ewo tiou dk wR;r Au'B lck QA
ollro e ty g¢h thou gA fo'o di ie[k ILdfr;k
di tle cMi&cMn ufn;k d fdukj gh gvk gA cpiu
e gh ge ty di mi;kxrt] “lryrk o fueyrk d
dij.k mbdh v wkdfkr gkr jg gA fdir uy d
utp ugu vkl tyktk; e Medh yxlu e
tetubvilelu dk vrj gA vrh ge tyk'k;k e rju
di epy ,Br gA gelj n"k db ILdfr Hh bugh
ufn;k dh nu gA ok d IHh riFk ufn;k d o fdukj
cu g, gA ftudk Nun; wvrY; gA
1- ty vk etuo thou dk dlk Ic/k g\ 1
2- okllro e ty D;k g\
3-uy d ulp ugu o tyk'k; e Mcdh yxiu e

D;k vrj g\
4- gekj n"k dv ILdfr fdldh nu g\ 1
5- tefiu o NWh “kCn d foyke “iCn x]kk e |

fy A
6- x|k dk mipr “lid fy[HA
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1-2

1-3

1-4

1-5

1-6

1-7

fubu d VvF fy[i& Bx1s=4

[k vk okllu Hdi fpfrr

efty Ijf{kr irid

fdugh pkj i"uk o mlkj I{ki e fy[H& 4x1v=6

1- ki 1 Mjdj diu Hikx trk g\

2- IkjHe wvikj eufloun rjct dh nfu;k e D;k y<du
yx\

3- tc jktk u cMk buke nu dh ckr dgh rk jkik u
D;k efxi\

4- ki e ilk cgu dk Dk wvR g\

5- lkxy e xk;&cyk dh 1tk Dk dh thrh g\

fdugh rhu i"uk d mlkj folrkj 1 fy[W& 3x2=6

1- lixy d gy fnu D;k fd;k thrk g\

2- g u cPpk dk D;k&D;k Eh[k nh\

3- jktk d".kno jk; u hiu e dlk egy n[ik Fk\

4- nfu;k dh Hfkejh dl nj ghxi\

fdUgh nk "iCnk dk 1;kx dj okD; cukwik&2x1v:=3

efty egy R;kakj

fdlh ,d fo'%; 1j 150 *iCnk e WwuPNn fy[k& 3

Vi gok egy  Uch a<xk bf.M;k rk c<xk bf.M;k

ekgYy di 1Qk o fctyh di 0;olFk Bd dju d

fy, uxjikfydk dk BkFuksI= fy[HA 1+2+1=4

VFkok
fp=dyk 1fr;kixrk e iFke viu d fe= dk c/ib 1=

fy [KA

1-8  fuku fp_:

dk o.ku N4

RSP

I lir 1fDr;

o N

(e dji&
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